T TEEE)

fEHI

F
i

LT (BRYERTmEE L0 )
Vi= 0.20 X 4.90

2R P (FEYERrmX L)
V2= 0.20 X 3.50

AT (RYERmX L0 )
V3= 0.20 X 2.70

A ERT (GRYERmX L0 )
V4= 0.20 X 3.00

SR (FRYERmX L 0 )
V= 0.30 X 3.30

67 AT (ERYERTEX L 0 )
V6= 0.30 X 15.00

TR (FRERrmX L D)
V= 0.20 X 2.60

8h AT (FEYEWrmX L)
V8= 0.20 X  11.80

OB M@PT (FEYERrmX L)
Vo= 0.20 X 2.70

LT (PR L D)
Vi= 0.70 X 4.90

2 AT (GRYERTX L0 )
V2= 1.30 X 3.50

SR (ERHERTEX L0 )
V3= 0.70 X 2.70

45T (EEERTEE LD )
V4= 0.80 X  3.00

SHEMEHT (FEYERrmX L)
V= 0.60 X  3.30

65T (FEYERrmX L D)
V6= 0.30 X  15.00

6 5 fE AT (BEWTER)

V6= 0.70 X ( 2.80

T AT (ERERmRX L0 )
Vi= 100 X  2.60

8 AT (FRYEWEX & V)
V8= 0.40 X 11.80

8 @i (BAWTHR)

V8= 0. 60 X ( 3.50

0. 50

0. 50

11.

.98

.70

.54

. 60

.99

.50

.52

. 36

.54

73

.43

.55

.89

.40

.98

.50

.61

. 60

.72

.80

L7




T TRREE(2)

MR L
(i L)

HE L
(RC-40)

HHI R F

V5wt B

95 @A (FEERrmX L)
Vo= 100 X

2 AT (FRYERrmX L0 )
V2= 0.90 X

3o fE AT (FEYEWTm L 1)

V3= 0.50 X 2.70 - 1.
AGERT (BRYERTmE L V)
V4= 0.60 X  3.00 - L.
SR (ERYERTmX L0 )
V5= 0.50 X  3.30 - 1.

65 ERT (RAERTIm L v )

V6= 0.40 X  15.00 — 6.
675 AT (RrL)
V= 0.60 X ( 2.80 — 0.50 ) - 1.

TP (BRERTmX LD )

Vi= 0.70 X 2.60 = 1.

8 AT (FRYEMrmX L V)

V8= 0. 30 X 11.80 = 3.

85 & AT (BEWTER)

V8= 0.40 X ( 3.50 — 0.50 ) = L.

9T AT (GRYERTmEX L0 )

Vo= 0.70 X 2.70 - L.
r = 23

L@ (BRHERTmX L D)

ViI=  0.60 X 4.90 = 2.
> = 2
P H1 vV = 11.
=i vV = 32.
= 43,
MHEL VvV = 23.
= 23
( #EEl + K ) — ( &L + #HE ) /0.9
V= 43.91 — 23.78 /0.9 = 17.

2.70 = 2.

3.50 = 3.

70

.18

15

35

80

65

00

38

82

54

20

89

.78

94

.94

73

18

91

78

.78

49

32.2

23.8

2.9

43.9

23.8

17.5




+THERHEE )

65 AT (BWTER)

' El -
R 1 0.70
EBRL(GRAL)| 0.60
R L (RC-40) -
7 Al -
KR E 0. 60
ERLGRAL)| 0.40

R L (RC-40)




|
BEAHE Y TRt E (1)

R T

URIMARE 85T CEmEKEY)
(3f#250) |L= 11. 00

VB 35 pT CPm k)

(3f8300A) |L= 2.70

L= 3.30

L= 2.50

VBRI (4@ CPm & v)

(3fE300B) |L= 3.00

L= 4.70

VB 7o fEpT CPRm L)

(3f8300C) |L= 2. 60

L= 2.70

H B ABRE |25 6@ CRER L Y)

(300X700) |L= 3. 50

a7 U — NE(SEHET

(UBRHIT#E250) |N= 11.00

7 V—F 7 &8 ERT

(UB{AIIE250) |N= 11. 00

S5E R CREXED)

8E T (CFmEX &)

65 AT CPEX L)

95T CFEXEY)

2.80

2.00

11.

11.

17.

20.

20.

20.

00

00

.70

. 30

.50

.50

.00

20

20

. 60

.70

. 30

.50

.50

00

00

.00

.00

8

%

9.5

20. 2

5.3

3.5

20.0

2.0




HeAHEE Y TEHHEE (2)

ar7 ) —hHE
(UZR{HIITE300)

TV—F T E
(URLAHI#:300)

TV—F L TE
(H H AR

i

BT

i,
B

(F15 734 7 W5 D 350K 24 1)

65 AT (FEWTER)

N= 1440 -+ 0.50 —  2.00
8 5 fii It
N= .0+ 0.5

REZAESTEIE

N= 2.70 = 0.50

455 & Pt

N= 3.00 =  0.50

55 f& AT

N= 3.30 = 0.50

6 AT (REWTER)  SHERTETD © 14/10m
N= 14.40 =  10.00

6 AT (RAWTET)  SCREWTET © 208/10m
N= 2.8 - 0.5

TS & AT

N= 2.6 - 0.5

8EfEFT (HIEREWIN)

N= 2.5 - 0.5

95 f& AT

N= 2.7 - 0.5

2% fEiET
N= 350 <+ 2.00 <+  0.50

LT CPmE D)
L= 4.90

27.

29.

00

.00

00

.00

.00

.00

.00

.00

.00

.00

.00

.00

. 00

.00

.90

.90

%

3

%

29.0

44.0

4.0

4.9
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BEAHE Y T35 E (3)

LK T

Kk 65 AT CPEX L)

(400 400A)  |N= 1. 00
8 AT CFmX &L Y)
N= 1. 00

1. 00

1. 00

2.00

it

2.0




u Z f & @B F& 250) (10m4 1)
‘ 460 ‘
250
i QW FD 5
n -
= § 65 Q 230 V 65
Lo
S © \ [
S e i
300
500
4 PR At B AL
URUARI T N= 10.000 =+ 2.000 5.000 | A 5. 00
(3fd250) ( L=2000, 75 B 5:=345kg/{# )
SHERRED YA 7 VR
#E/LZL | V= 0.300 X 0.030 X 10.000 0.090 | m® 0.09
(1:3)
Py A= 0.500 X 10.000 5.000 | m? 5. 00
(RC-40, t=10cm)
FHHEIE A= 0.500 X 10.000 5.000 | m? 5. 00




U & ] # (3 FE 3004) (10m% 1)
UBLEI3E (35E300A)
SERBEUHA LG
| 520 |
300
UZY4aI;E (3% 300A L=2000)
Y
L2 A2N—ra2y)y—Fk
2 E (18-8-25BB)
o3 HEILFIILA:3)
o ™~
(9p] [
()
S i, S5 S (RC-40)
360
560
4 PR At B <P AVARE ¢
UL N= 10.000 -+ 2.000 5.000 | A& 5.00
(37E3004) ( L=2000, 25 EH &=419kg/{# )
SHERRED YA 7 VR
FEVZASEN V=" 0.300 X 0.050 X 10.000 0.150 | m® 0.15
a7 U—Fh
(18-8-25BB)
#E L& | V= 0.360 X 0.030 X 10.000 0.108 | m°® 0.11
(1:3)
FLHERS A= 0.560 X 10.000 5.600 | m? 5. 60
(RC-40, t=10cm)
FLmEFEIE A= 0.560 X 10.000 5.600 | m? 5. 60




U & M # (3 F 300B) (10m% 1)
UZ! A& (3%2300B)
ZEEFTFUHAIILES
520 |
300
UZ! 8% (35 300B L=2000)
g__ _—
0o R
2| A onN—=ravy)—+
g __—"(18-8-25BB)
[ HBEILZIL(:3)
()
= _
(= oeve
= i E 41 (RC-40)
4 PR g B <P AVARE ¢
UL N= 10.000 -+ 2.000 = 5.000 | A& 5.00
(3F#300B) ( L=2000, &5 B &=471kg/{# )
SHERRED YA 7 VR
FEVZASEN V=" 0.300 X 0.050 X 10.000 = 0.150 | m*® 0.15
a7 U—Fh
(18-8-25BB)
#ELZ | V= 0.330 X 0.030 X 10.000 = 0.099 | m°® 0.10
(1:3)
FLHERS A= 0.530 X 10.000 = 5.300 | m? 5. 30
(RC-40, t=10cm)
FLmEFEIE A= 0.530 X 10.000 = 5.300 | m? 5. 30




U & @ % (3 $# 3000) (10m% 1)
UZ! A& (3%&300C)
ZERBEVHAUIILER
U*"Lﬂ']i% (3% 300C L=2000)
877
2|8
L A NR—rkavs)—¢
g —(18-8-25BB)
S s’éﬂz%»a)bu 3)
- g**"‘ﬁ
(ap)
o
8 @ﬁ BB (RC-40)
4 PR At B <P AVARE ¢
UL N= 10.000 = 2.000 5.000 | A& 5.00
(3FE300A) ( L=2000, 75 EH &=584kg/{# )
SHERRED YA 7 VR
FEVZASEN V=" 0.300 X 0.050 X 10.000 0.150 | m® 0.15
a7 U—Fh
(18-8-25BB)
#E L& | V= 0.340 0 X 0.030 X 10.000 0.102 | m® 0. 10
(1:3)
FLHERS A= 0.540 X 10.000 5.400 | m? 5. 40
(RC-40, t=10cm)
FLmEFEIE A= 0.540 X 10.000 5.400 | m? 5. 40




H B 4 &E M
(30 X 700

(10m*%4 )

BERARAIE
300 x 700

65 300 65
o 430
‘ 530 |
‘ 630 |
4 R &t A by
B H A B 10.000 = 2.000 5. 000 5. 00
(300X 700) ( L=2000, 35 EH &618kg/{# )
A 8 — | 0.300 X 0.100 X 10.000 0. 300 0. 30
a7 U—Fh
(18-8-25BB)
Effar 7 U—k 0.530 X 0.100 X 10.000 0.530 0.53
(18-8-25BB)
[F] AR 0.100 X 10.000 X  2.000 2.000 2. 00
By 0.630 X 10.000 6. 300 6. 30
(RC-40, t=10cm)
JLmEEEIE 0.630 X 10.000 6. 300 6. 30




(2 ( ¢ 350

(B F 734 7 N O 3504024 i)

10. 000

(10m*%4 )
4 PR = B BAT| 2N
BriEgEKE | L= 10.000

10. 00




(400 X 400A ) (10259)
skt
400 x 400A
630
115 L 400 . 115
R [ 7]
A N—raHhYy— ¢
8 (18-8-25BB)
K -
i
g | 120 ||\ (Re-40)
‘ 830 ‘
4 PR At A AL 5
MR FEPUBEFE S 540 N= 1.000 X 10.000 = 10.000 | & 10. 00
(400 X 400A) ( BEHEE=253kg/H )
JUL—F7ZE N= 1.000 X 10.000 = 10.000 | ¥ 10. 00
(T-25, 400 X 400)
A 2 R— K V= 0.400 X 0.400 X 0.050 X 10.000 = 0.080 | m® 0.08
ar7 Y—Fh
(18-8-25BB)
Hpgar 27U —R V= 0.730 X 0.730 X 0.100 X  10.000 = 0.533 | m°® 0.53
(18-8-25BB)
[ AR A= 0.730 X 0.100 X 4.000 X 10.000 = 2.920 | m?® 2.92
FAERS A= 0.830 X 0.830 X 10.000 = 6.889 | m?® 6. 89
(RC-40, t=10cm)
FLmmEE e A= 0.830 X 0.830 X 10.000 = 6.889 | m?® 6. 89




T AT 7L MEREET

<&
(t=4cm)
(1. 4m=W)

=g
(t=4cm)
(W<1. 4m)

i
(M=30, t

e

10cm)

LT (BRYERTEE L 0 )
Al= 2,00 X 4.90

6 AT (FRYERTmX L 0 )
A6=  2.75 X 15.00

8 AT (FRYEWmEX L V)
A8= 2.10 X 11.80

2 ERT (ERYERTmEX L0 )
A2= 2,00 X 3.50

3EMEAT (FEERrmX L)
A3= 2,00 X 2.70

45T (ERYERTEE LD )
A= 2,00 X  3.00

ST (FEERmX L)
AS=  3.00 X  3.30

T AT (R L0 )
AT= 2,00 X 2.60

9 AT (FRYERTmX L0 )
A9=  2.00 X 2.70

KE LY
A= 75.83  +  38.90

41.

24.

75.

38.

114.

114.

.80

25

78

83

.00

.40

.00

.90

.20

.40

90

73

73

75.8

38.9

114.7




|
VB R Ak Tt

ML
[RlaH a7 )=t |6 EpT (FREEmX L0 )
(t=10cm)  |L1=  15.00 = 15. 00

8 AT (RYEWTmX L 0 )
L2=  11.00 = 11. 00

X = 26.00 | m 26.0




M8 » a » 7 U — b (10m¥4 1) )
VA 2t = AT ¢
a7 U—hKk | V= 0.100 X 0.100 X 10. 000 0.100 | m?® 0.10

(18-8-25BB)




SRS TR (D

REE IR L T

a7 JU—F
&) U L
(JHER7)

TAT 7Lk
BT RRTOE L

2R P (FEYERrmX L)
V2= 0.03 X  3.50

AT (FRYERmX L0 )
V3= 0.02 X 2.70

SEAT (FRYERmX L0 )
V5= 0.03 X  3.30

67 AT (BRYERTmEX L 0 )
V6= 0.30 X 15.00

T AT (BRERmRX L0 )
V7= 0.03 X 2.60

8 AT (FEYEMrmX L)
V8= 0.03 X 11.80

95T (FEYERrmX L)
Vo= 0.03 X 2.70

L fEipT (PR L D)
Al= 2,00 X 4.90

2 AT (FRYERmX L0 )
A2= 2,50 X 3.50

3R (ERYERTmX L0 )
A= 2,50 X 2.70

AT (BRYERTHEE L V)
A= 2,50 X 3.00

SHMEHT (FEERrmX L)
AS=  3.50 X 3.30

65 AT (FEERrmX L)
A6=  2.70 X 15.00

TR (FRERTmX L D)
AT= 2,50 X 2.60

8 AT (FRYEWmX L V)
A8= 2.50 X 11.80

9T AT (GRYERmX L0 )
A9=  2.50 X 2.70

11.

40.

29.

127.

.11

.05

. 10

.50

.08

. 35

.08

.27

. 80

.75

.75

.50

55

50

.50

50

.75

60

5.3

127.6




SRS TR (2)
L@ (BRHEWTmX L D)

Bl i B W
(A7 7L 1)
(t=15cmlL F)

TR AL T
O

(a7 Y —1~)

BT
(TAZ 7V ]H)

LSy
(=7 U — 1)

ALY
(7277 1)

L1= 4.90 X

2.00 =

25 AT (BRYEWTm L D)

L2= 3.50 X

2.00 =

S fEAT (FRYEWrm L 0 )

L3= 2.70 X

2.00 =

45 EpT (BRYERTE L )

L4= 3.00 X

2.00 =

S fE AT (BEYEWTmE L D)

L5= 3.30 X  2.00 =
65 & Pt
6= 2.70 + 2.70 + 2.70 X  2.00

+  14.40 =
¥No. OFE¥T = 2. Tm, No. 0+15. OREIKT : 2. Tm
FEWT TS SR B 2, Tm X 2, MEWT TS % B ¢ 14, 4m

TP (BRERTmX LD )

L7= 2. 60 X

2.00 =

85 AT (PRYEMWrmX L 0)

L8= 2.10 +

2.10 + 2.10 +  11.00

*No. OREIT - 2. Im, No. 0+11. 8K : 2. Im
FEWT VSRR B RE © 2. Im, HEWTVER ERF : 11. Om

95 AT (BEYEWTmE L V)

V

V

Vv

L9=  2.70 X  2.00 =
» =
REEMEUEL L0
= 5.27 =
Z ==
fEm PR L L
= 127.60 X  0.04 —
2 =
BOERE L
= 5.27 =
» =

Vv

O &
5.10 -

25.

17.

87.

.80

.00

.40

.00

. 60

20

.20

30

.40

90

.27

.27

.10

.10

.27

.27

. 10

. 10

87.9

5.3

5.1

5.3

5.1




